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+ il X+ Yy 10+3=13
- X X—Y 10-3=7
* Je X *y 10 *3 =30
/ b x/y 10/3=3.333
% HY 6585 X% Yy 10%3=1
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ﬁport java.util.Scanner;
class web({

public static void main(String[] args) {
inta, b;

a = sc.nextiInt();
b = sc.nextiInt();

System.out.printf(
System.out.printf(
System.out.printf(
System.out.printf(
System.out.printf(
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Scanner sc = new Scanner(System.in);

,a, b, a+b);
,a, b, a-b);
,a, b, a*b);
,a, b, a/b);

,a, b, a%b);
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class web({ ‘ = AEFRAY A E 2L -
. . - . . K/l\/z\ﬁ 1 /?:EIE%Z
public static v0|c.1I main(String[] args) { ARt [ K Bt
System.out.printin(10 / 2); S BEE AT T .
Svstem.out.printin(10 / 3): 8,75 4 52

System.out.printin(10 / 3.0);
System.out.printin(10.0 / 3);

}I System.out.println((float)10 / 3),' 3. 33333333.33333335
L e . 3.3333333333333335
dew4l BHWER  IEBE 3.3333333333333335

| ATEN L (float) - BT LA#

7 N VB 4 B R LRI R - e 3.3333333
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2 2 28 10/3=3

/
2 7wl & / Faugl  10/3.0 =3.3333333333333335
/

#mhE e Faagl  10.0 /3 =3.3333333333333335

FRiEl FRAE / el 10.0 /3.0 = 3.3333333333333335

AR B 3z 0
Lt (float)

2HE 2 ZRE  (float) 10 /3 = 3.3333333
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mport java.util.Scanner;
class web{
public static void main(String[] args) {
inta, b; printf() REIBE %HER - BERTERH LR
Scanner sc = new Scanner(System.in); 2 - W %d BEE - %f 2FHE  AUEEREEE
a = sc.nextint(); % B - Z21E printf AR %% 7 o] IEfE#E L !
b = sc.nextInt();
! [

System.out.printf("%d + %d = %d\n",a, b, a+b);
System.out.printf("%d m%d = %d\n",a, b, a%b);

} n %0 %% %d = %d

‘l8dice‘

7 N




